Problem L. (15 points} For the following proton transfer reactions does the equilibrium for the
reaction lie towards the reactants or the products? Circle you choice.

i EI& " m”_lﬂh O:}"“ Reactant
E) Hﬁ%‘ Hscj‘w':\'.“ —— %: + H:,ﬂ-j\cﬂn Reaciant @
H Nt

I SCTIN SEN WS- .

HG Nt 4 g ol HC™ TOH * Mt G FProduct

| ccan,) P
) MHy mjﬁi‘va Na¥H; + Emj)(z\oa
Nat H

E} HO ¥ Hﬁiuh".+—._ N3 - H:;Gicﬁ Rmm@

Problem 2. (10 points) Given the mechanism for the Claisen condenzation of ethyl acetats to

form ethyl acetoacetate. 5 FD
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Problem 3. (20 points) Give the products for the following reactions. Please circle your
answers, Be careflul with the state of pretonation in the product!
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Problem 4. {10 points) Give the major product for the following reaction. Give the Newman
projection to explain why this product is formed,
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Problem 5. (15 points) Starting with 1,2 dibromoethane and diethylmalonate, show how you
would synthesize the following molecule,
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Problem 7. (10 points) Consider the following molecule:
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A) How would you synthesize this molecule using the Dieckmann reaction?
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B) How would you synthesize this molecule by the acylation of a ketone?
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